INSTALLATION INSTRUCTIONS

MODELS

EHS5PA-1-5A

EHSPA -
EHSPA-

- |0A
- I5A

EHSPA -1 -20A
EHS5PA-3-98B
EHS5PA-3-12B

EH5PA-3- ISB

EHS5PA-3-18

EHS5PA-3-9C

EH5PA-5-
EH5PA-3-
EH5PA-3-

OPTIONAL ELECTRIC HEAT PACKAGES

FOR USE WITH 3.5, 4 and 5 TON

2C
5C
8C

PACKAGED UNITS

MANUAL 21 oo—osh







IMPORTANT

The equipment covered in this manual is to be installed by trained,
experienced service and installation technicians.

SHIPPING DAMAGE

Upon receipt of equipment, the carton should be checked for external
signs of shipping damage. !f damage is found, the receiving party must
contact the last carrier immediately, preferably in writing, requesting
inspection by the carrier's agent.

UNPACKING THE HEAT PACKAGE

Remove the heat package from the shipping carton. The heat package
must consist of the following: (See Figure 1)

1. Basic heater enclosure with controls and instailation instructions.

2. Plastic bag containing (1) 230V terminal block; (1) grounding lug; (4)
#10-16 x 1/2" screws; (2) #8-16 x 1" screws;(1) #10-24 x 1/2" screw;
and (1) wire tie,

INSTALLATION

Disconnect all power supplies to the air conditioner or heat pump. Remove
the control panel service door. Remove the four (4) #10-16 x 1/2" screws
which secure the electric heat cover plate. Remove the electric heat cover
plate from the blower partition and discard. Carefully insert heater
package through the opening, provided in the blower partition. Guide the
heater package into the opening being careful to align the locating pin(s)
of the heater(s) in the dimpled holes provided in the rear of the blower
partition. Line up the four (4) holes in the heater control panel with the
four (4) prepunched holes in the blower partition and secure the heater
package to the blower partition with the four (4) #10-16x1/2" screws
provided.

WIRING CONNECTIONS

Connect the wires exiting the bottom of the heater package into the unit
circuit by plugging in the plastic snap lock fitting into the mating fitting
located on the rear of the control panel.

IMPORTANT: A separate power supply must be provided for use with
any optional heater package., DO NOT attempt to
connect a heater package with a basic unit to a single
power supply.









Remove the unit control panel cover and the inner 4-1/4" x 7-3/4" cover.

By removing this cover an isolated area is exposed. Install the high
voltage terminal block. Use the two (2) #8-16 x 1" screws. lInstall the
grounding lug, using the two (2) #10-24 x 1/2" screws into the

prepunched holes supplied.

Route the line voltage power circuit wires from the heater package through

the bushed hole in the control panel to the newly installed high voltage
terminal block.

Inspect ail
enclosed wire ties,

wiring for damage and

secure any
See Figure 3 for completed assembly.

loose wiring with the

terminal block cover, control box cover and blower service door.

Energize both power suppiies and check for proper system operation.

Replace the

PARTS LIST
OPTIONAL ELECTRIC HEAT PACKAGES
<! 315|3S|0{8|8]2%j0 |28 |8
R Bl BN R el ol ol B ot Bog Do
PR EOE RN BoR B B R R BT = -1 =
| | L] € €| €| €[ L] B LB L@
e clajiac|laialajalalaTaTaeT|a=T
Part No. Description W ||| W wnl B} B oW wWn 0 [T i
o o B o B o [ ol I o i < e o e ol e o = | T
Wopow oo W ow oW ow | W w o
8401-006 | Contactor 2P20A (D221 (1)} (2)71(2){(2)
8401-002 Contactor 3P25A (D1 (I (1) §(2)
8614-017 | Fuse Block (1)
8614-018 | Fuse Block [§))
8402-025 | Thermal Cutoff (D23 WH] D3N3 (2)] (] 3) 1 (W)
8201-008 { Biower Relay X | X | x| x| x| x| x{x X x| x X
8607-013 | Terminal Block X | X
8607-014 | Terminal Block X! X | x i x X x| x x
8614-006 | Fuse 30A (2)
8614-007 | Fuse 60A (2)1(4)
8402-012 | Limit Switch x ! x| x1 x| x| x| xix X X X X
8604-042 | Heat Strip Skw X
8604-044 | Heat Strip 10kw X (2)
8604-047 | Heat Strip 15kw X X
8604-046 | Heat Strip 12kw X
8604-048 | Heat Strip 9kw X (2)
8604-072 | Heat Strip 9kw X (2)
8604-051 | Heat Strip 12kw b3
8604-052 | Heat Strip 15kw X




—
{3
—
4
@ .
@ Q [ [~—Heating Blower Relay
J| 5) (2
}
. ® G
Limit
6§ pin connector
(fits mating G; B
connector on models
P48AS5, P60AS, P48A5-3 + (12 H
’ P6OAS-3, PH42-1, PH48-4, @ eater
PH&80-5, PH42-1-3, PH4B-4-~3, Contactor
PH60~5~1 -
(L2
/.
'r
Thermal
Cut=-off Electric
Heater

EHSPA~-1-5A
Tarminal

Block—\

These components field : & The EHSPA-1-5A heater package consists of the following:
tﬁ mounted in control

(1) Basic heater package. )
Equip. Panel of unit. (1) Terminal Dlock (Cat. No. EB or 11993},
Ground (1) Listed Ground Terminal 6-12 AL, 6-14 CU.
E@] E@D f—-230V Heater
X s Terminal Block Refer to the heat package instructions for proper
! i . installaticn.
|
} 1 ! *50HZ apptication not U.L. Listed
T ! 1
= | 1
= USE COPPER OR A\ |, EHSPA-1-5A
= Y ' ALUMINUM WIRE HEATER PACKAGE
280-60-1 I
240/220-50-1" FACTORY WIRING FIELD WIRING

Low Veltage
High Voliage

[4068 - 1108




ON¢ -

BRC

—® @G

6 pin connecter

(fits mating connector
on modela P4BAS, PEOAS,
P4BAS-3, P60OAS-3, PH42-1,
PH4B—¢}, PH60-5, PR42-1-3,
FPH4B-4-3, PH60-5-F

Limit

<
Gi

Heating Blower Relay

EHSPA-1-10A

Terminal

Block————‘\\\

Ckt.B

Equip. Ckt.B
Ground

[0 (el

| I l

! 1 1

L

| 1 1

== i |

230-60-1
280/220-50-3 *

These components field
mounted in control
panel of unit.

Thermal
Cut=-off

"

230V Heater
Terminal Bleck

USE COPPER OR
ALUMINUM WIRE

Heater
Contactor

Electrie
Heater

{1) Basic heater package.
{1}
(1)

*S0HZ application not U.L. Listed

; (f} The EE5PA-1-10A heater package consists of the following:

Terminal Block {Cat.No. EB or 11943).
Listed Ground Terminal 6-12AL, 6-10 CU,

Refer to the heat package ingstructions for proper

installation.

A

FACTORY WIRING

Low Voliage
High Voitage

FIELD WIRING

EHSPA-1-10A
HEATER PACKAGE

(4068 -1208]




— 3
3 :
1 tw—-Heating Blower Relay
® Q
{ 5) (2
+6 @ '
Limit
& Pin Connector
(Fits mating -,
connector on models 1 ,
P4BAS, P60A5, P4BAS-3, Heater ! T 1t :
P60AS-3, PH42-1, PH4B-4, AR 2= | :
PH60-5, PH42-1-3, PH48-4-3, § Contactor
PH&§(Q=5~3
OO /M Q¢
/
Thermal Electric
EH5PA-1-15A Cut-off Heater
Fuse Block
% -
o
Fuge A - 60A Standard Class K-5
- Class K-5
- ckt.B Fuse B 30A Standard
The EH5PA-1~15A heater package consigsts of the following:
These components field] ;
"1/ mounted in control (1} Basic heater package.
Equip. Ckt.B panel of unit. {1) Terminal Block {(Cat.No. EBor 11993),
Ground : (1) Listed Ground Terminal 6-12 AL, 6-14 CU.
U@] * Refer to the heat package instructions for proper installation.
N-230V H :
¥ . ngmingitgfock ‘ & 2nd heat contactor operates only during emergency heat
| i : ; or compressor cut-off,
! 1 -
1 1 i *50HZ application not U.L, Listed
= ! R OR
S A | ALOMINUM WIRE A | Eusea-1-1sn
AL ATER PACKAGE
200-60-1 -1

240/220-50-1 *

FACTORY WIRING

Low Voltage
High Voliage

FIELD WIRING

[4068 - 1308



4
{1 p"-—Heating Blower Relay
ORQ,

D a &
]

0 &

Limit
5 Pin Connector
(Fits mating b
connector on models
P4BA5, P6OAS, P48AS-3 T f—
P60A5-3, PH42-1, PHAD-d, (2 (Y] reater
PH50-5, PH42-1-3, PH48~4-3, Contactoy

PHEO0-5-3 §® %) HE @

'E'H'sﬁ.\-l-zoa Thermal. Electric
Fuse Black Cutoff Heater

B
Fuse A & B - 60A Standard Class K-5
é The EHSPA-~1-20A heater package consists of the folleowing:
| | The::u;é::go?:n::n:;.:fd (1) Basic heater package.

Equip. : {1} Terminal Block {Cat
Ckt.B £ . at. No. EB or 11993),
Ground ! panel of unit (1} Listed Ground Terminal 6-12 AL, 6-14 CU.
D;ED D@j Refer to the heat package instructions for proper installation,
; \230\7 Heater
|
L
¥

¥ és 2nd heat contactor operates only during emergency
| | Terminal Block heat or compressor cut-off.
I 1
'; ; *SOHZ application not U.L. Listed
= | A\ | Euspa-1-20a
— USE COPPER OR HEATER PACKAGE
= Y ALUMINUM WIRE

280-60-1
280/220-50-1 %

FACTORY WIRING FIELD WIRING

Low Voltage
High Voltage

M068-1408

;




Equip,
§roznd

USE COPPER OR
ALUMINUM WIRE

3

@
®®
© &}

7

6 Pin Connector
(Fits mating connector on Limit
models P48AS, P60AS, PYBAS-3 J
P60AS-3, PHO2-1, PHi8-4,
PHE0-5, PH&2-1-3, PHag-4-3,
PH60-5-3

=N

[

I1

PO
\@“i

Thermai
Cutof

Heating

" Blower

Relay-

Heater Contactor

Mw

Electric Heater

d

by b e

!
v

T

M0-60-3
280/226-50-3 *

Llow Veltage

FACTORY WIRING  ‘FIELD WIRING

High Voltoge mmmmm e ws e =

s wirisr e | ey —

" EH5PA-3-98
(1] QL] QL] Fermiet slck
LL3 LLZ LE]
Ckt.B
) ¥
These components B /\ The EH5PA-3-98 Heater Package consists of
field mounted in  § the following:
control panel of 9:
Ckt.B unijt. : (1) Basic heater package
: H {2) Terminal Block {Cat. No. ERB or 11933)
230V Heater . !
D@] D@] @ Temine Brock | {3) Listed Ground Terminal 6-12 AL, 6-14 CU

*50HZ application not U.L. Listed

EH5PA-3-98
HEATER PACKAGE

C=:E




r——

@ O}
® @

P e
[@ Heating

e Biower
Relay

© @)

&8 Pin Connector

(Fits mating connector on
models PRBAS, PEOAS,
PaBAS-3, P60AS-3, PHH2-1,

imit
2 Heater Contactor

PHa8-g, PH60-5, PHA2-1-3

—Z

Equip.
Ground

USE COPPER OR
ALUMINUM WIRE

@

PH48-¢-3, PHEO-5-3 / (
00 o9
fdd 60
3
Tharmal
Cutoff E
t‘EZ or 15Kw
Electric Heater
EHSPA-3128
EH5PA-3-158
L@U Terminal Block
LL3 LLe LL
Ckt.B
;:?‘ ‘"‘““f;".’"" £ /1\ The EHSPA-3-128 or EHSPA-3-158 heater package
maun n consgists of the following:
control panel of
Ckt.8 unit. (1) Basic heater package
{2} Terminal Block (Cat. No. ERB or 11993}

230V Heater
(1] AL T | Farmine: slock

v

i
I
I
f

[ USRI I PES—

» - -

L280-60-3
. 280/220-50-3 4

FACTCGRY WIRING
Low Yoltage ———.

(High Volln!c——- —— — —

'FIELD WIRING

(3} Listed Ground Terminal 6-12 AL, 6-14% CU
&Refer te the heat package instructions for proper

installation. 2nd heater contactor operates only during
emergency heat or compressor cutoff.

*S0HZ application not U.L, Listed

EH5PA-3-15B
HEATER PACKAGES

& EH5PA-3-128

KDY




@ Qi

® @

g)
@ Heating
Me_-Blower
Relay

® &

6§ Pin Connector

PHR8-J-3, PH60-5-3 )

(Fits mating connector e models Limit Heater
PABAS, PE0AS, PASAS-3, PGOAS-3, [ = | A e ror
PHU2-1, PHa8-d, PHE0-5,PHA2-1-3,

Equip,
Groand

[ ——

OO T~ oo
\-@ % gll. 3

|
Thermal
Cutoff

IKw
Electric Heater

EH5PA-3 188

‘Ii

Terminal Block

LL3 LL2

Ckt.B

. control panel of

These components B & The EHSPA-3-148 hester package consists of
fleld mounted in the following:

unit. } (1) Basic heater package
. {2} Terminal Block (Cat. No. ERB or 11993)
230V Heater : (3) Listed Ground Terminal 612 AL, &1y C

Terminal Block |

! é Refer to the heat package instructions for proper
installation. 2nd heater contactor operates only
during emergency heat or compressor cutoff.

2

*50HZ application not U.L. Listed

USE COPPER OR
ALUMINUM WIRE

v

i S ] e — —

250-60-3

2580/220- 503 »

FACTORY WIRING
Low Voltage = —_

High Yolloge me—

‘FIELD WIRING

e —— ] —— —

[A EHSPA-3-18B
! HEATER PACKAGE




Equip,
Ground

3

@ @l

@

5‘9
@ *—~Heating

81ower
Relay

- G

6 Pin connector

PH60- 5-3)

(Fits mating connector on
models POBAS, PGOAS, P3BAS-3,
P60AS-3, PHO2-1, PH4R-Y
PH60-5, PH42-1-3, PHa8-4-3,

imit

_/Heater Contactor

Ckt.B

Thermat
Cutoff

\SKN

Electric Heater

EHS5PA-3-9C
Terminal Block

Ckt.B

Thase cmnponmts

flald mountad in
control panel of
unit.

360V Heater
Terminal Block

{0

TSNS 15 [R—

-—.-—‘--—-—_

"

- uo—sol-s
USE COPPER OR e
ALUMINUM WIRE
FACTORY WIRING'  FIELD WIRING

P

Low Voliage

High Volloge semmns . am sm e =

—— i, it

i ve— ] — —— i

3

;
1
i
_i
.
-

/\The EHSPA-3-9C heater package consists of

the following:

(1) Basic heater package

(2) Terminal Block (Cat. No. ERB or 1199))
(3} Listed Ground Terminal 612 AL, 613 CU

EH5PA-3-9C
HEATER PACKAGE

| IIOGB-S‘IOA




Equip.
qu-ougd

@ @
> ®

® Q)

6 Pin Connector
(fits mating connector on models
P4BAS, P60AS, PRBAS-3, PEOAS-3
PHuz-I PHu-4 PHso-s
PH82-1-3, PH&3-4-21, PH&0-5-3)

Limit

{1 \-Heqtmg

Heater Contactor

|
1660

Thermal
Cutoff

[~ 12Kw or 15Kw

Terminal Block

EHSPA-3-12C

(@0 0o (on| s
Terminal Block

LL3 L2 LL1
Ckt.B

These components §
fleld mounted in
control panef of ]
Ckt.B unit. i
560V Heater [
g

g
v

-~ f5
-

S
|
|
i
|
{

480-60-3
USE COPPER OR .
ALUMINUM WIRE
FACTORY WIRING 'FIELD WIRING
Low Voliage Zots. — 0 —

High Voltuge s = o= -

Electric Heater

& The EH5PA-3-12C, EH5PA-3-25C heater pachkage

consists of the fo[lo\-mg

(nm
(2)
(3

Basic heater package

Tarminal Block (Cat. No. ERB or 11953)
Listed Ground Terminal &12 AL, 6-18 CU

|
I
|
i
EHSPA-3-12C ’
EH5PA-315C i

HEATER PACKAGE

| 3068320 4




® O}
(5 @2

“——Heating

® @ '

§ PIn Connector

PHA2-1, PH48-¢, PH&0-5,PHaz2-1-3,

PHA8-4-3, PH6O-53)

(fits mating connector on models Limit
PRBAS, PS0AS, PIBAS-3, PGOAS-3, GD

81ower
Relay

/72 Heater Contactor

J Z
OO0 | | |1e0oH
™~
@ L2 (L LR
]
T hermal
Cutoff
\ SKw
Electric Heater
- EHSPA-31aC
u&au U_ﬂ Tearminal Block
L3 LL2 LLY
Ckt.B
g
These components & The EH5PA-3- 18C heater package consists of
field mounted in the following:
control panel of
Ckt.B unit. (1} Basic heater package
{2) Terminal Block {Cat. No. ERB or 11993)

Equip,
Ground

460V Heater
Terminal Block

=

e m—— | — i ]
e e wet | — ——

M {
: AS0-60-3
USE COPPER OR e —
ALUMINUM WIRE
FACTORY WIRING  -FIELD WIRING

" .

Low Voltage
High Volloge s———e == wme v =

{31 Listed Ground Terminal -1z AL, 14 CU

& Refer to the heat package instructions for proper

instailation. 2nd heater contactor operates only
during emergency heat or compressor cutoff.

& EHSPA -3 18C
HEATER PACKAGE

I

‘ 5068 3,;_LA J_




